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Q.1 Alarge hotel uses eight lifts (elevators) to carry passengers between its sixty floors
A computer is used to control and monitor the lifts. Each lift has three registers to represent
its state.
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() Ifthe three registers contain the following data:

what information about the lift is shown’?
(b) How would the following information be shown in the three registers:
lift 6 presently on the 45th floor and going down
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(c) () A customer is on the 14th floor and wants to go to the 50th floor. She presses the

button to call the lft.
What two pieces of information would the computer check to identify which of the

eight lfts should be made available?
(i) Using your answers to part (i), which of the following lifts would be made available

to the customer?
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(d) An engineer wishes to test that this computer system detects incorrect data
Describe what input the engineer might use to check that the computer can correctly
identify a fault condition.





